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1.1 Example
You play a game where you first draw a card from a 52-card deck and then roll a six-sided die. - os< /by
How many possible outcomes are there? —~+o o l ( <
s e P 2 + o V<. S
B | ( — O < -
v ol Shte -
c  Arcw &
c o A o - — 22 poSglbl‘e
S22 -7 e X (S ocutconnsS -
1.2 Example
You flip a coin, roll an eight-sided die and then roll a twenty-sided die. How many possible
outcomes are there? + - 2
cbe e ! step 2 S <

2 p-o. < 8 P o. ~ ZOP-O. = 320 P.O.

1.3 Example - = .\«

You are deciding on a password that is six characters in length. The first two characters must be
numbers and the other characters must be letters. How many possible passwords are there?

oL, 2,3,4, 5,6, 7,8,

. T T .
2 & lettevr2 | n mle\mbet—/
s a7 €0°
Feoss, p\e

(ae\sewwdj

Lx2b A28 ¥ 207

1.4 Practice oW C>QO (.o — (.

Takisha and Laurence each flip a coin. How many possibilities are there?

.

1.5 Practice

Takisha, Laurence and Bar each roll a six-sided die. How many possibilities are there?
L B

= 2

6 X b X O 6
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1.6 Practice

You are deciding on the menu for a cafeteria and must choose from three appetizer options, 4 main
meal options, 2 desserts and 3 drinks. How many different meal combinations are there?

- 2

1.7 Practice
Consider the following license plate:

~ EQuébec

736 JWB

=Je me souviense

Assuming the first three characters must be numbers and the last three characters must be letters,
how many different license plate combinations are there?

g QAbv 9L « &
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2.1.1 Example probeble

Consider the following events and determine whether they are possible, impossible or certain:

(a) Rolling a six-sided die and landing on an even number.

2 .= € v v}

P’OSS‘.\—?\Q/ Pvo o b (e
(b) Rolling an eight-sided die and landing on a number greater than 8.
2 .=,

TV nt -P: %

v poss il bile
(¢) Rolling a six-sided due and landing on a number that is both even and odd.

. '\VV\Pogg,'b\ﬁ

(d) Rolling a six-sided due and landing on a num is either eveni or odd. _
2 .=, eveun \ _ % S 2, 2 y v ) S o ,Z}
P=2z = \cev borrry Rl ey
(e) It will snow in July. e =3 2,49, ey v

. IDQSS:'B\Q

(f) It will both rain and not rain at the same time tomorrow.

wapessible Yo Ao F Fhec
B O

(g) It will either rain or it will not rain tomorrow.

Cevtoin
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Describing Two Ewvents’
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2.4.1 Example
A bag contains 5 white, 3 black, and 2 red balls. Determine the probability that the ball is not red.
P (wnot reas) = | — P re<t) P = Aot al
— =
= I =
= 8
o
2.4.2 Practice
When tossing a fair standard die, determine the complement of rolling a number less than 2.
Plnot tessy = | - P (icss +ben 2)
ftWeawn 2
- I - ( - ;
2.4.3 Practice b %
What is the probability you will not get a sum of 6 if the the probability of getting a sum of 6 when alwe O<
rolling two dice is 5/36? ( 5 w I~ ) N RV < e ;D72
— - . AV .
P ( neX sum) = | ~ e ¢
- e S
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2.2 Example L
role s .
e ﬁ on Ao -
You are p\;;rtlapatmg in game in which you select two balls in turn“ i<
from a-ﬁ—trm wo rules are possible: either you replace th s in 7[7 e e

T VN pke 4

woveplace
O\V\6V\J€‘f 0\) é_\

the rn after selection, or you do not. Winning the game involves
selecting a green and blue ball (in any order).
Wo v b\~

M <en /k o (/‘dk
@What is the probability of winning the game with replacement?

(b) What is the probability of winning the game without replace-
ment?

(c) If we change the winning conditions in each case as follows: win- """ ' S Mok e = + —e <
ning the game involves selecting a green and blue ball (in that
order) or selecting a green and red ball (in that order), how will —

W ot

it affect the probability of winning the game?
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